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(x 1) = il G ——dz (c-11)
Rodrigues DA%
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d? (z2 -1)*
Rl Vi Pty (C—-11)

Rodrigues DA P,(x) = ; (x -1 (C—-10)

1
Zf’#'d

JoT,
(z2 - 1)* P
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mif G dz = 2721 Py(x)
DFED, CauchyDFE /) EFLAHSchlaeflid AT HALT -,

- 1)
Schlaeflio AR,  P(x) = P ((ZZ )2“ dz  (C—-12)

Schlaeflin /AR L LegendreD[E ZIAFD EE ) HHeine D /AR A E L

LegendreDEZIHEADEE P'(x) =1 - xz)%;x—mpg(x) (C-13)

(C-13)I2(C-12)& X A5

m dm 27 [ (22 - 1)¢
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m dm 2 (z%2 -1)*
m — — ¥2)2 —
P/ (x) = (1 —x2) oz Y oo dz (C-14)

(C- 1D EFEITTD
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P (x) = 2—(1—x2)z(f+1)(f+2) (f+m)3§%dz (€-15
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(C-15)DA01%
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(mei¢)€+m+1
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TS & FAT DM, sinlT A BIETR DT, LUF OB AT AT R,
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(C-16)73 HeineDAR TH D, DFY,

P (x) :¥(E+1)({’+2)---(f+m)fn[x+ xz—lcosd)rcosmd)d(,b
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INETE A ELT=DICLL T OBEBEE 25,
f(x) = (a — bx)™?* (c-17)

(C1EWMI T2
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Heine DA
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B 1 71
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INERBET XY A TELEB KO0 DD, DR
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[ e+ 3 - Dicosol -pls + o = i costo - )} dp =201 -2px 4911 c-29)
(C-24), (C-25)EM(C-23)1%

[ e+ 3 - Dhcosil - plo 4 62 - Dhcosto- 0]} a0 =20 Y Rt (c- 20
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-1

de

1

n 1 T x4+ (x2 —1)Z cos(w —
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1 7+1
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ZZT, PY(x)%Fourierf SRR 35,
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exp(—BH, + FMB,) 1 _
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TR BEDDI (D-5%&JEHT 5, 7085, B, D2FII/NIWVO TGS HL
_exp(—=pH) 7-9) g
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Lo, s
= f du Tr{pegMM( + iR[f — ul)} (D-9)
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. . d?x
NewtonDiE i 2= maz = F (E-1 -
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